HFR(L) %% — REEATEIL w=zrua)

EENRABRERT BT TR BA

CHELIC PNEUMATIC

O AEHEBE

O RBR
EH BT 1= (mm) @20 @25 @32 @40 @50 @63
EEIZ R ®/Enk
R iRe BREZBIEER
BaEN kgf/cm’ (kpa) 10.3(1030)
EREAEE  kgfiom’(kpa) 1 ~ 7(100~ 700)
BEE1TiE mm 9 11 13
TE1TR2 mm 13 15 17
FIREME BES
hedE A E 90+2"
hEsE A5 A K8 (RAME) -L ; A8 (BEEA) -R
BHkiEH (N) (0.6MPa) 120 200 360 630 980 1680
CEER
R B @20 @25 @32 @40 @50 @63
EE ki 0.3 0.5 0.7 0.9 15 2.1
3 ) < C 18 ) - (C sp 2 )
[ REmE | | mame | [ BELE |
- @20mm e
- @25mm %
- @32mm
- @40mm CS-9D m
= J— 50 - @50
L: iTH?fggg 63 - 363 $ 2 FRET TR [SD]: /e 881848/ (CS-9D)
(MEFTRETHE) FE 58 7E 48 /B (CS-9B)
FiE 33 18 48 /B (CS-9H)
@20 - 13
P 4 SR T8 (CS-9DPNP)
@32 - 15mm [2 ] mEsyE
@40 - 15mm 1= 1{EMERS
@50 - 17mm 2 = 2{ABAERGRAMY)
R: RRAEEER 363 - 17mm
(REAA)

3-11.19

SCR(L)
Heeg
BHFHL

HER
put:
BHFEL

HGR(L)
]
BT

HSR(L)
RE

F
¥/ TR E
(B E)

HBR(L)
R

A TR

(HREFERER)

HFR(L)
FE

¥/ TR A
(MEBAERT)

HUR(L)
JhER
A TR

HUK
R
JER BT

HN[]
st
ELps

HS[]
g
D)=

HCF
L
LT

HCS
W
SEEEL

HCQ
R
SR
(iR



O HFR(L) @20 ~ @63

HFR(L) %% — REEATEIL w=zrua)
SHERER R <t

5 £ @B
= O
NBla |
T
K 4-@L
J
G1
F\ N Il
| \
|
| g
} \
. AT
El | El1 ~ I =
g L 1
of 1 o
o o] | |, ®
i -
I <
| m| <
|
i
|
|
N1
21
R
o
|
: ! -
| o
4 a
} $#RE1:10 \ =
I I
s
5 & ST A Al A2 B c D1 E1 F G1
@20 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@25 22 67 89 (105.9) 65 23 015.9 M6x1.0 6 50
@32 26 82 108 (128) 78 28 019 M8x1.25 8 70
@40 26 82 108 (128) 78 28 019 M8x1.25 8 75
@50 30 94 124 (150.4) 90 31 025.4 M10x1.5 10 85
263 30 94 124 (150.4) 90 31 025.4 M10x1.5 10 95
i & I J K L M N Q R S T U N1 N2
@20 @31 33 26 @33 | M5x08P | 35 | @68 | @11 | @12 5 85 15 155
@25 @35 38 30 @46 |M5x08P | 35 | @68 | @11 | @14 5 8.5 16 15
@32 @46 50 40 @56 | PT1/8 50 | @9 @14 | @16 7 9.5 22 20
@40 @55 60 48 ?6.8 | PT1/8 55 | @9 214 | @16 7 9.5 26 20.5
@50 @65 70 57 ?6.8 | PT1/8 60 | @11 @18 | @20 9 12.5 34 225
263 278 83 67 @9 PT 1/8 70 | o1 @18 | @20 9 12.5 40 22.5

3-11.20



	01.氣壓轉角下壓缸-HFR(L)-3-11.19
	02.氣壓轉角下壓缸-HFR(L)-3-11.20

